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Chapter 4 (Part 2) Review Worksheet Name: Y,EV

Solve the equation.

1) x2+9=47 2) x2 = 2x% + 4 3) 3% +10=-23
X9 X 3x =733
SR X" S
[X= L5 | AT X= VST
4) ~5x2—3:97 5) (x—10)? = =54 G 6) —(x+7)2+8=44
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p Write the expression as a complex number in standard form.

7) (860 + (7 + 40) 8) 2-30 - (6-5) 9) (3+4) - (250
%+ T = T 2-0-30-(-50)  3-7+4i-(-50)
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10.) —9i(2 — i) 11.) (5 + i)(4 — 2i0) 12.) (2 = 7i)(=8 - 3i)
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Use the properties of exponents to write the complex number in standard form.
oy

3 \ 1\ W Lo
LO16) —S+il ‘Hfj_ 17)4+129 1129 18) —11- 25814 b 19)15+7¢76~1HL

e —5¢ Co M = -\\vu—n%ﬁ, 54100 3 3%
- L\ \““L ST B
Solve the equation by completmg the square. \ ) q \ @

20)x +16x—17 = 0 U210 0 2y e-ex—15=0 \ &) 7 (-3)*74
X7+l +l\ﬂ b= L A*ox (4] =15 4[4
bﬁh) : (X-3)*= 24
xx%-iﬁfl X-3= 7y <

1

el

i |X-3%2vu |

22) 222 +8x-28=0 (%) (2)%5Y 23) 27+ 24+ 244 = 0 (Z.L 5 (12)% 149y
z z . ’ o )
X dx -1 =0 AREALRIEEY 24 [EX
. 3 (xt1)"=-\0
X+ X ftﬂ: H tHJ X4\~ ~\00<F\’
= * Y
PN Xy ©
X+1 =% V_< |
[X=-1:3% “ﬂ
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Find the value of x.

26.) Area of parallelogram = 48 units?

 the quadratic function in vertex form. T‘?en identify the vertex. ( -0 ) * (=] Q) i \00

25.) y =x%-20x + 125
E()_Q_\Je N x - 20x f[r(;-ol D)
100 + 3 = (X-10) ©~ 125

27.) Area of rectangle = 78 units?

(A=b.h) (Ji)t-';) %
l—x / ;1;")1?{! x+7
x+6 L—‘%j 7l'j - —}%
XX 10) = 4% x@f;ﬁ,ﬁ x}X*"ﬂ_ 5
Xx“tlx = 42 [x= -3 51 X4 1% a 7%*}?;
craox +[9] = 4s+1al X e i 7%
® ks (xe )™
Use the quadratic equation to solve the equation. X+ :l[ = t@ ik
28)x +4x 3=0 29.) 9x2 = —6x—1 X+ 7° t’i’\q
e =0 o g
m‘trm—u') JxTrlox x| = T'T
A TO N K = TYE N HIDN x-.%r{g
X ‘*’m*’*%ﬂ 2(9)
< -\t
_ -4t ¥ = 9 VO
X = s " \% —
x = -2+V1 X=1% ~|3
30.) 6x% —8x = -3 31.)£x2+¢0x—c5=0
T_ -‘0
ox ‘bx t 3 (L TS
X = ~(%‘) V—‘)__}’_{LT(:)} Zm-ﬁi
= - -\t f\rg <_\r-
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32.) A person spikes a volleyball over a net when the ball is 9 feet above the ground. The volleyball has an g

initial vertical velocity of -40 feet per second. The volleyball is allowed to fall to the ground. How long

is the ball in the air after it is spiked? t- -1-40) % V(-40) -1 (10)(9)
N=-Wot®* ¥Nok v 7(-10) o o
= -\t -0 - 40t VT —
0 9 K0t + 9 £ 3 O\WQU* 07—‘
£x-27T1 01 sewnds .

33.) A juggler tosses a ball into the air. The ball leaves the juggler’s hand 4 feet above the ground and has an

initial vertical velocity of 40 feet per second. The juggler catches the ball when it falls back to a height
of 3 feet. How long is the ball in the air? t _ =40t VISDEETEIO -

N= =10t Nok * ho YT — sl

E I L e LR I [ Bhte (X

- e ————————

-\ treqot vl Lk
0= = -0.019, 7525

S dosned P s6lid
34) y<-2x+8x -5 oyt 35) y2=(x+5)(x +1) o

AOS: X = L T *' AOS: X = -3 =
vertex: U—, 3) | l vertex:i‘_j)_._“\l
|
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X207 720 -

10 ox- it -9, -\

x [0\ |2 5[-4]-3]-2
y =9V |3 y Q343
Joshed _ dashed
36) y>2(x—4)2 -5 37) y < 2x2 +2 — /?”‘
nrl >— 2_3
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P2 N
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A
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